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2. (12 points) Compute:
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3. (12 points) Compute: 2ok =2 ,? A R -
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4. (12 points)
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(a) Evaluate the improper integral or show that it diverges: / M dx
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(b) Let R be the region bounded by y = sin(2z) and the z-axis and between z = 0 and z = /2.
Find the volume of the solid obtained by rotating this region about the y-axis. (Set up and
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5. (12 points) A trough-shaped tank is full of water and all the water is going to be pumped up and
out of a spout. The dimensions are shown below in meters. Note the top of the spout is 2 m above
the top of the full tank (this is identical to a problem from homework, so interpret the picture in
the same way as homework).

Find the work required to pump the water out of the spout shown. (include units)

Use 9.8 m/s? for the acceleration due to gravity and 1000 kg/m? for the density of water.
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